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+5@=KE H0@>2 ......., 15@CB 87 =8E ........, 7=0G8B m2  =  &&&&&& 

21 mmm ý =&&&&&&&&&&&&&&&&&&.......... 

�5@>OB=>ABL A>1KB8O  � @02=0: 
n

m
AP ý)( = &&&&&&&&&& 

1) � - A@548 2K=CBKE H0@>2 <5=LH5 G5< 2 15;KE. -B> A>1KB85 A>AB>8B 87 42CE 
=5A>2<5AB=KE A>1KB89: 
B1 - A@548 2K=CBKE H0@>2 B>;L:> >48= 15;K9 8 3 G5@=KE. 
B2 - A@548 2K=CBKE H0@>2 =5B =8 >4=>3> 15;>3>, 2A5 4 H0@0 G5@=K5. 
&0: :0: A>1KB8O B1 8 B2 =5A>2<5AB=K, <>6=> 8A?>;L7>20BL D>@<C;C: 

)()()( 21 BPBPBP ý  

�5@>OB=>AB8 A>1KB89 B1 8  B2 ?> D>@<C;5 :;0AA8G5A:>3> >?@545;5=8O 25@>OB=>AB8: 

&&&&&&&+8A;> 8AE>4>2 A>1KB8O B1 =0945< ?> D>@<C;5 21 mmm ý , 345 m1 

3 G8A;> A?>A>1>2 2K1@0BL 1 15;K9 H0@, 0  m2  - G8A;> A?>A>1>2 2K1@0BL 3 G5@=KE 
H0@0. �5;KE H0@>2 6, 15@CB 87 =8E 1, 7=0G8B m1 =  
&&&&&&&&&&&&&&&&&& 
+5@=KE H0@>2 ......, 15@CB 87 =8E ........, 7=0G8B 

m2  =  &&&&&&&&&& 21 mmm ý  =&&&&&&&& 

 B2= {4 G5@=KE} +5@=KE H0@>2 ...., 15@CB 87 =8E ....., 7=0G8B m  =  &&.. 

�5@>OB=>AB8 A>1KB89  B1 8 B2 @02=K: ý)( 1BP   &&&&&&&& ý)( 2BP

&&&&&&&& )()()( 21 BPBPBP ý  = &&&&&& 
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2) C 3 A@548 2K=CBKE H0@>2 E>BO 1K >48= 15;K9. �45AL   A>1KB85  C  
>?@545;O5BAO  A;>20<8 "E>BO 1K >48=" 8 ?@O<>5 @5H5=85  ?@82>48B   >1KG=>  : 
A;>6=K<  2KG8A;5=8O<.  -B><C A>1KB8N C4>2;5B2>@ONB A;54CNI85 A>G5B0=8O 
H0@>2: 1 15;K9 8 3 G5@=KE (C1), 2 15;KE 8 2 G5@=KE (C2), 3 15;KE 8 1 G5@=K9 
(C3), 4 15;KE (C4). �<55<:  C = C1 + C2 + C3 + C4.  �;O 2KG8A;5=8O 25@>OB=>AB8 
A>1KB8O C =5>1E>48<> =09B8 25@>OB=>AB8 G5BK@PE A>1KB89 C1, C2, C3, C4. 

#@>I5  A=0G0;0  =09B8  25@>OB=>ABL ?@>B82>?>;>6=>3>   A>1KB8O   8  70B5< 
2KG8A;8BL 25@>OB=>ABL 8A:><>3> A>1KB8O. 

     #@>B82>?>;>6=K< A>1KB8N C O2;O5BAO A>1KB85 !  - A@988 6O=CBOE H4@>6 =9B 

=8 >8=>7> 59;>7>, !  = {4 G5@=KE} = B2 

)()( 2BP!P ý =  &&&&& 

ýý )(1)( CPCP &&&&&&&&&&&&&&&&&& 

 "B25B: &&&&, &&&&&., &&&&&.. 
 

 �040G0 7 2 
 'AB@>9AB2> A>AB>8B 87 B@5E =57028A8<KE  M;5<5=B>2,  @01>B0NI8E 2  B5G5=85 
2@5<5=8 & 157>B:07=> A>>B25BAB25==> A 25@>OB=>ABO<8  0,851,  0,751  8  0,701. !09B8 
25@>OB=>ABL B>3>, GB> 70 2@5<O & 2K945B 87 AB@>O:  0) B>;L:> >48= M;5<5=B; 1) E>BO 1K 
>48= M;5<5=B. 
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 !09B8:   &&&&&&&&&&&&&&&&&&&&&&&& 
 $5H5=85: 
�0=> A;>6=>5 8A?KB0=85 3 @01>B0 CAB@>9AB20, A>AB>O2H53> 87 3-E M;5<5=B>2. 
�A?KB0=85, B.5. @01>BC 70 2@5<O & =C6=>  @0AA<>B@5BL =0 42CE C@>2=OE:  =0  C@>2=5   
CAB@>9AB20 8   =0 C@>2=5 M;5<5=B>2.  
�2545< M;5<5=B0@=K5 A>1KB8O:   Bi 3 i-K9 M;5<5=B =5 2KE>48B 87 AB@>O;  

 iB  - i-K9 M;5<5=B 2KE>48B 87 AB@>O. 
 0) A 3  74 6@9<S " 6OE>88B 87 AB@>S B>;P:> >88= Q;9<9=B. 
�K@078< �, G5@57 M;5<5=B0@=K5 A>1KB8O. %>1KB85 A ?@>8AE>48B B>340, :>340 
2KE>48B 87 AB@>O ;81> B>;L:> 1-9, ;81> B>;L:> 2-9, ;81> B>;L:> 3-9 M;5<5=B. 
� = {�  ,  � ,   �} = &&&&&&&&&&&&& 

'G8BK20O =57028A8<>ABL M;5<5=B>2 CAB@>9AB20, =5A>2<5AB8<>ABL A>1KB89 

 ?@8<5=8< B5>@5<K A;>65=8O 8 C<=>65=8O 25@>OB=>AB59  P(A) =   
&&&&&&&&&&&&&......... 
�5@>OB=>AB8 M;5<5=B0@=KE A>1KB89  �i >?@545;OBL  =5 =04>, B0: :0:  MB8 25@>OB=>AB8 
7040=K ?> CA;>28N.  
P(B1) = p1 = ………….., P(B2) = p2 = ……………., P(B3) = ……………………. 

�i 8   iB  - ?@>B82>?>;>6=K5 A>1KB8O. ýý )(1)( 11 BPBP
&&&&&&&&&&&&&&&&&&&&&&&.  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
�KG8A;8< 25@>OB=>ABL A>1KB8O  A. 

B
i
и ŪUB

i
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P(A) =   &&&&&&&&&&&&&.......................... 
&&&&&&&&&&&&&&&&&&&&&&&&& 
1) B 3  74 6@9<S Т 6OE>88B 87 AB@>S E>BS 5O >88= Q;9<9=B.  

%>1KB85 >?@545;O5BAO A;>20<8 "E>BO 1K >48=", 7=0G8B, 8A?>;L7C5< ?@>B82>?>;>6=>5 

A>1KB85  B  - 74 6@9<S Т 6A9 Q;9<9=BO @45>B4RB 597>B:47=>. B  = { $$$} = 
&&&&&&&&&&&&&&&&&&&. 

!0945< 25@>OB=>ABL A>1KB8O B : 
&&&&&&&&&&&&&&&&&&&&&&&&& 
P(B) = &&&&&&&&&&&&&&&&&&&&&&&&&&&&. 
 

"B25B:  &&&&&&&&&&&&&&&&&&&&&&&&&&& 
 

 

#@0:B8G5A:0O @01>B0 7 3 «#>;=0O 25@>OB=>ABL 8 D>@<C;0 �095A0». 
 
 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 

 
3  D>@<C;C  ?>;=>9 25@>OB=>AB8; 
3  D>@<C;C �095A0 

 
3  =0E>48BL ?>;=CN 25@>OB=>ABL; 
3  =0E>48BL 25@>OB=>AB8 38?>B57 

 

 �>?@>AK : B5<5 
1.  >65B ;8 25@>OB=>ABL ?@>872545=8O 42CE A>1KB89 1KBL @02=>9 ?@>872545=8N 
25@>OB=>AB59 MB8E A>1KB89?   
&&&&&&&&&&&&&&&&&&&&&&&&& 
  2. �A;8 AC<<0 25@>OB=>AB59 A>1KB89 @02=0 1, <>6=> CB25@640BL, GB> >=8 >1@07CNB 
?>;=CN 3@C??C? &&&&&&&&&&&&&&&&&&&&&&&&& 
 3.  >6=> ;8 CB25@640BL, GB> AC<<0 25@>OB=>AB59 A>1KB89, >1@07CNI8E ?>;=CN 
3@C??C, @02=0 548=8F5? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
  4. "1@07CNB ;8 420 ?@>B82>?>;>6=KE A>1KB8O ?>;=CN 3@C??C A>1KB89? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 5.  #CABL U 8 V 3 A>>B25BAB25==> 4>AB>25@=>5 8 =52>7<>6=>5 A>1KB8O. +5<C @02=0 
25@>OB=>ABL AC<<K MB8E A>1KB89?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
6.  #CABL U 8 V 3 A>>B25BAB25==> 4>AB>25@=>5 8 =52>7<>6=>5 A>1KB8O. +5<C @02=0 
25@>OB=>ABL ?@>872545=8O MB8E A>1KB89?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
7. #@8 :0:>< CA;>288 ?@8<5=ONB D>@<C;C ?>;=>9 25@>OB=>AB8? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 7 1  
 � ?8@0<845 AB>OB 19 28=B>2>:, 87 =8E 3 A >?B8G5A:8< ?@8F5;><. %B@5;>:, 
AB@5;OO 87 28=B>2:8 A >?B8G5A:8< ?@8F5;><, <>65B ?>@078BL <8H5=L A 25@>OB=>ABLN 
0,81, 0 AB@5;OO 87 28=B>2:8 157 >?B8G5A:>3> ?@8F5;0,  A 25@>OB=>ABLN 0,46. !09B8 
25@>OB=>ABL B>3>, GB> AB@5;>: ?>@0782 <8H5=L, AB@5;O; 87 28=B>2:8 A >?B8G5A:8< 
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?@8F5;><. 
 
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 !09B8: &&&&&&&&&&&&&&&&&&&&&& 
 

 $5H5=85: 
� 3 AB@5;>: ?>@078B <8H5=L 3 MB> A>1KB85 <>65B ?@>87>9B8 B>;L:> A >4=>9 87 

38?>B57 
�1 3 AB@5;>: 2>7L<5B 28=B>2:C A >?B8G5A:8< ?@8F5;><; 
�23 AB@5;>: 2>7L<5B 28=B>2:C 157 >?B8G5A:>3> ?@8F5;0. 
 
!0945< 25@>OB=>AB8 38?>B57. #> D>@<C;5 :;0AA8G5A:>3> >?@545;5=8O 25@>OB=>AB8 

P(B1) =…………………………………………………………………..  
P(B2) =………………………………………………………………………………….. 
 
'A;>2=K5 25@>OB=>AB8 2K?8H5< 87 CA;>28O 7040G8. 
 (�/�1) = &&&&&&&&&..  (�/�2) = &&&&&&&&&&&&& 
 
�A?>;L7C5< D>@<C;C ?>;=>9 25@>OB=>AB8.  
 (�) =  (�/�1)  (�1) +  (�/�2)  (�2) = ………………………………………….. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
#> D>@<C;5 �095A0 2KG8A;O5< CA;>2=CN 25@>OB=>ABL 38?>B57K �1. 

&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 "B25B:  &&&&&&&&&&&&&&&&&&&&&& 
 

 

 �040G0 7 2 
 !0 E8<8G5A:><  702>45  CAB02;5=0  A8AB5<0  020@89=>9  A83=0;870F88.  �>340  
2>7=8:05B  020@89=0O A8BC0F8O, 72C:>2>9 A83=0; A@010BK205B A 25@>OB=>ABLN 0,950. 
�2C:>2>9 A83=0; <>65B A@01>B0BL A;CG09=> 8 157 020@89=>9 A8BC0F88 A 25@>OB=>ABLN 
0,02. $50;L=0O 25@>OB=>ABL 020@89=>9 A8BC0F88 @02=0 0,004. �725AB=>, GB> 72C:>2>9 
A83=0; A@01>B0;. +5<C @02=0  25@>OB=>ABL @50;L=>9 020@89=>9 A8BC0F88? 
 

 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 !09B8: &&&&&&&&&&&&&&&&&&&&&& 
 $5H5=85: 
 $0AA<>B@8< A>1KB85 А 3 A87=4; A@45>B4;. -B> A>1KB85 <>65B ?@>87>9B8 
B>;L:> A >4=>9 87 38?>B57  �i ( i =1,2 ): 
�1 3 5ABL 020@89=0O A8BC0F8O; 
�2 3 =5B 020@89=>9 A8BC0F88; 
 &>340 ?> D>@<C;5 ?>;=>9 25@>OB=>AB8 25@>OB=>ABL A>1KB8O � 1C45B @02=0 
P(�) = P (�/ �1) ∙ P (�1) + P(�/ �2) ∙  (�2) 
 (�1) 3 MB> 25@>OB=>ABL @50;L=>9 020@89=>9 A8BC0F88. "=0 8725AB=0 ?> CA;>28N. 
 (�1) = &&&&&&&&&&&&&&&&&.. 
�1 8 �2 3 420 2708<=> ?@>B82>?>;>6=KE A>1KB8O.  
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 (�2) = &&&&&&&&&&&&&&&&&&&&&&&&&&&.. 
 �0?8H5< CA;>2=K5 25@>OB=>AB8 A>1KB8O А. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 

�A?>;L7CO CAB0=>2;5==K5 25@>OB=>AB8, >?@545;8< 25@>OB=>ABL A>1KB8O �:  P(�) 
= P (�/ �1) ∙ P (�1) + P(�/ �2) ∙  (�2) =  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 

!0945< 25@>OB=>ABL @50;L=>9 020@89=>9 A8BC0F88 2 B>< A;CG05, 5A;8 72C:>2>9 
A83=0; A@01>B0; ?> D>@<C;5 �095A0. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 "B25B:&&&&&&&&&&&&&&&&&&&&&& 
 

 

#@0:B8G5A:0O @01>B0 7 4 «#>2B>@5=85 8A?KB0=89». 
 

 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
�=0BL:  
3?>=OB85 AE5<K �5@=C;;8;  
3D>@<C;C �5@=C;;8; 
3  ?@81;865==K5 D>@<C;K  2 AE5<5 �5@=C;;8 
 '<5BL: 
3  2KG8A;OBL 25@>OB=>AB8 A>1KB89 2 AE5<5 �5@=C;;8 

 
 �>?@>AK : B5<5 
1. �0:8<8 4>;6=K 1KBL 8A?KB0=8O, GB>1K <>6=> 1K;> ?@8<5=8BL D>@<C;C /. 
�5@=C;;8? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
2. #5@5G8A;8B5 DC=40<5=B0;L=K5 CA;>28O AE5<K =57028A8<KE 8A?KB0=89. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
3. "1JOA=8B5 7=0G5=85 2A5E A8<2>;>2 2 D>@<C;5 /. �5@=C;;8. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
4. �0?8H8B5 D>@<C;C 2KG8A;5=8O 25@>OB=>AB8 A>1KB8O 2 AE5<5 =57028A8<KE 
8A?KB0=89, 5A;8: 0) A>1KB85 ?@>87>H;> @>2=> k @07;  
&&&&&&&&&&&&&&&&&&&&&&&&& 
1) A>1KB85 ?@>87>H;> >B k  4> m @07; 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
2) <5=55 2-E @07; 
&&&&&&&&&&&&&&&&&&&&&&&&& 
3) =5 1>;55 2-E @07. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
5. #@8 :0:8E CA;>28OE <>6=> ?@8<5=OBL 70:>= #C0AA>=0? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
6. �0?8A0BL D>@<C;C #C0AA>=0 8 >1JOA=8BL 7=0G5=85 A8<2>;>2 2 MB>9 D>@<C;5.    
&&&&&&&&&&&&&&&&&&&&&&&&& 



14 
 

&&&&&&&&&&&&&&&&&&&&&&&&& 
7. +5<C @025= ?0@0<5B@ » 2 MB>9 D>@<C;5?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
8. #@8 :0:8E CA;>28OE <>6=> ?@8<5=OBL D>@<C;C �0?;0A0? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
9. �0?8A0BL D>@<C;C �0?;0A0 8 >1JOA=8BL 7=0G5=85 A8<2>;>2 2 MB>9 D>@<C;5. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
10. �0: =0E>48BL 7=0G5=8O DC=:F88 4;O >B@8F0B5;L=>3> 0@3C<5=B0 2 ;>:0;L=>9 
D>@<C;5 �0?;0A0? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
11.  �0: =0E>48BL 7=0G5=8O DC=:F88 4;O 0@3C<5=B0 1>;LH5 8;8 @02=>3>  
4-< 2 ;>:0;L=>9 D>@<C;5 �0?;0A0?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 7 1  
 �5@>OB=>ABL ?@8P<0 @048>A83=0;0 ?@8 :064>9 ?5@540G5 @02=0 0,8. !09B8 
25@>OB=>ABL B>3>, GB> ?@8 H5AB8:@0B=>9 ?5@540G5 A83=0; 1C45B ?@8=OB:  
1) G5BK@5 @070; 2) =5 <5=55 G5BK@5E @07; 3) =5 1>;55 >4=>3> @070. 
!09B8 =0825@>OB=59H55 G8A;> ?@8=OBKE A83=0;>2. 
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 !09B8: &&&&&&&&&&&&&&&&&&&&&& 
 $5H5=85: 
�A?KB0=85 3 ?5@540G0 A83=0;0.  «'A?5E» - A83=0; 1C45B ?@8=OB. 
1) � 3 A83=0; 1C45B ?@8=OB G5BK@5 @070  
#@>AB@0=AB2> 8AE>4>2 A>1KB8O  � = { 6(4) }, B>340 P(B) = P6(4). 
#@8<5=8< D>@<C;C �5@=C;;8. 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
2) C 3 A83=0; 1C45B ?@8=OB =5 <5=55 G5BK@5E @07.  
C 3 «=5 <5=55 G5BK@5E @07», >7=0G05B, GB> A83=0; 1C45B ?@8=OB 4, 5 8;8 6 @07. 
#@>AB@0=AB2> 8AE>4>2 A>1KB8O  ! = { 6(4), 6(5), 6(6) }, B>340  
P(!) = P6(4) + P6(5) + P6(6). 
P6(4)  = & &&&&&&&&&&&&&&&&&&&&& 
P6(5) =   &&&&&&&&&&&&&&&&&&&&&& 
P6(6) =   &&&&&&&&&&&&&&&&&&&&&& 
P(!) = P6(4) + P6(5) + P6(6) =    &&&&&&&&&&&&&& 
3) D 3 A83=0; 1C45B ?@8=OB =5 1>;55 >4=>3> @070 
D 3 «=5 1>;55 >4=>3> @070», >7=0G05B, GB> A83=0; 1C45B ?@8=OB >48= @07 8;8 =8 
@07C. #@>AB@0=AB2> 8AE>4>2 A>1KB8O  D = { 6(0), 6(1) }, B>340 P(D) = P6(0)+ 
P6(1). 
P6(0)  = & &&&&&&&&&&&&&&&&&&&&& 
P6(1) =   &&&&&&&&&&&&&&&&&&&&&& 
P(D) = P6(0)+ P6(1)=   &&&&&&&&&&&&&&&& 
4) !0825@>OB=59H55 G8A;> CA?5E>2 =0E>48BAO 2 8=B5@20;5  
nD - . 
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&&&&&&&&&&&&&&&&&&&&&&&&& 
 "B25B: &&&&&&&&&&&&&&&&&
 
 �040G0 7 2 
 � :064>< 87 700 =57028A8<KE 8A?KB0=89 A>1KB85 A ?@>8AE>48B A ?>AB>O==>9 
25@>OB=>ABLN 0,35. !09B8 25@>OB=>ABL B>3>, GB> A>1KB85 � ?@>8AE>48B: 
0) B>G=> 270 @07;    1) E>BO 1K >48=  @07.  
 �0=>:  &&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 !09B8: &&&&&&&&&&&&&&&&&&&&&& 
 $5H5=85: 
0) !0945< 25@>OB=>ABL B>3>, GB> A>1KB85 � ?@>8AE>48B B>G=> 270 @07  
+8A;> 8A?KB0=89 4>AB0B>G=> 25;8:>, ?@>25@8< 7=0G5=85 n · p 8 A@02=8< 53> A G8A;>< 
10:   n · p = &&&&&&,  A;54>20B5;L=> =5>1E>48<> ?@8<5=OBL 
&&&&&&&&&&&&&&&&&&&. 
#> CA;>28N: n = ……, p = ……, m = &&,  q = 1 – p = &............. 
�KG8A;8< npq =………………………, ýnpq  &&&&&& 

m – np =………………………,B>340 ý


ý
npq

npm
u  &&&&&&,  

#> B01;8F5 1 ?@8;>65=8O =0E>48< 
___________________________________(______)ýf .  

#>4AB028< =0945==K5 7=0G5=8O 2 D>@<C;C  C02@0-�0?;0A0:   700(270) =  
&&&&&&&&&&&&&&&&&&&&&&&&& 
5) �4989< 69@>SB=>ABP B>7>, GB> A>5OB89 � ?@>8AE>88B E>BS 5O >88=  @47. �;O 
1KAB@>3> 2KG8A;5=8O 25@>OB=>AB8 MB>3> A>1KB8O 22545< A>1KB85 5<C 

?@>B82>?>;>6=>5 3  � 3  A>1KB85 =5 ?@>87>945B =8 @07C, B> 5ABL G8A;> ?>O2;5=89 
A>1KB8O @02=> =C;N. 

P(� ) = P700(0) , B>340 P(�) = 1 3 P(� ) 
!0945< P700(0) 
m 3 np =&&&&&&&&&&&&&&&&&,B>340  

ý


ý
npq

npm
u &&&&&&&&&&&&&&&&&.&,  

8725AB=>, GB>   )()( ufuf ý  #> B01;8F5 1 ?@8;>65=8O =0E>48< 

___________________________________(______)ýf .  

#>4AB028< =0945==K5 7=0G5=8O 2 D>@<C;C  C02@0-�0?;0A0:   700(0) =  
&&&&&&&&&&&&&&&&&&&&&&&&& 

P(�) = 1 – P(� )=    &&&&&&&&&&&&&&&&&& 
 "B25B: &&&&&&&&&&&&&&&&&&&&&& 

 

  �040G0 3  
 !0 B5;5D>==>9 AB0=F88 =5?@028;L=>5 A>548=5=85 ?@>8AE>48B A 25@>OB=>ABLN 
1/200. !09B8 25@>OB=>ABL B>3>, GB> A@548 200 A>548=5=89 ?@>87>945B:  
0) B>G=> 1 =5?@028;L=>5 A>548=5=85;  
1) <5=LH5 G5< 3 =5?@028;L=KE A>548=5=8O;  
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2) 1>;LH5 G5< 2 =5?@028;L=KE A>548=5=8O.  
 �0=>:    &&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
 !09B8: &&&&&&&&&&&&&&&&&&&&&& 
 
 $5H5=85: 

+8A;> 8A?KB0=89 25;8:>, 0 25@>OB=>ABL A>1KB8O � <0;0. #@>25@8< CA;>285 
?@8<5=8<>AB8 0A8<?B>B8G5A:>9 D>@<C;K �5@=C;;8. !0945< ?@>872545=85 np 8 
A@02=8BL 53> A G8A;>< 10. 
!0945< ?@>872545=85 np = .........................................10, ?>MB><C D>@<C;C �5@=C;;8 
=5>1E>48<> 70<5=8BL ?@81;865==>9 D>@<C;>9 ......................... 

.,
!

)( np
m

e
P

m

mn ý


üü ü

  

%>1KB85 � 3 B>G=> 1 =9?@468;P=>9 A>988=9=89. 
#@>AB@0=AB2> 8AE>4>2 A>1KB8O � = { 200(1) }, B>340 P (�) = P200(1) 
np = .........., A;54>20B5;L=>, λ = ........., 0 m = ............ 
P(�) = P200 (1) = ................................................................................................. 
%>1KB85 � 3 <9=PH9 G9< 3 =9?@468;P=OE A>988=9=8S. 
#@>AB@0=AB2> 8AE>4>2 A>1KB8O � = { 200(0), 200(1), 200(2) }, B>340  
P (B) = P200(0)+ P200(1)+ P200(2)  
!0945< P200(0) 8  P200(2) 
P200(0) = &&&&&&&&&&&&&&&&&&&&&& 
 P200(2)= &&&&&&&&&&&&&&&&&&&&&& 
P(B) = &&&&&&&&&&&&&&&&&&&&&& 

!>5OB89 C – 5>;PH9 G9< 2 =9?@468;P=OE A>988=9=8S 
#@>AB@0=AB2> 8AE>4>2 A>1KB8O ! = { 200(3), 200(4), 200(5),....., 200(200)}  
#@>I5  A=0G0;0  =09B8  25@>OB=>ABL ?@>B82>?>;>6=>3>   A>1KB8O   8  70B5< 2KG8A;8BL 
25@>OB=>ABL 8A:><>3> A>1KB8O. 

     #@>B82>?>;>6=K< A>1KB8N C O2;O5BAO A>1KB85 !  - =9?@468;P=OE 
A>988=9=89 <9=PH9 3-E: !  = {200(0), 200(1), 200(2)} = B,  
P(C) = 1 – P(B) = &&&&&&&&&&&&&&&&&&& 
 

 "B25B: &&&&&&&&&&&&&&&&&&&&&& 

 
 

#@0:B8G5A:0O @01>B0 7 5 «$0A?@545;5=85  48A:@5B=>9 A;CG09=>9 
25;8G8=K: 18=><80;L=>5, #C0AA>=0» . 

 
�840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 ?@>F5AA5 
2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
 �=0BL:  
-  ?>=OB85 �%�;  
3  ?>=OB85 @O40 @0A?@545;5=8O �%� 
3  70:>=K @0A?@545;5=8O �%�: 18=><80;L=K9, #C0AA>=0. 
3  A2>9AB20 70:>=>2 @0A?@545;5=8O �%� 
 '<5BL: 
-3  70?8AK20BL  @O4 @0A?@545;5=8O �%�, 7040==>9 A>45@60B5;L=K< >1@07>< 
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 �>?@>AK : B5<5 
 
1. �0:0O 25;8G8=0 =07K205BAO A;CG09=>9? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
2. �0:0O A;CG09=0O 25;8G8=0 =07K205BAO 48A:@5B=>9? #@82548B5 ?@8<5@K 48A:@5B=>9 
A;CG09=>9 25;8G8=K.  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
3. �0:0O A;CG09=0O 25;8G8=0 =07K205BAO =5?@5@K2=>9? #@82548B5 ?@8<5@K 
=5?@5@K2=>9 A;CG09=>9 25;8G8=K.  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
4. +B> =07K205BAO 70:>=>< @0A?@545;5=8O 48A:@5B=>9 A;CG09=>9 25;8G8=K?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
5. "1JOA=8B5 GB> B0:>5 "<=>3>C3>;L=8: @0A?@545;5=8O 25@>OB=>AB59".  �0: 53> 
?>AB@>8BL?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
6. #5@5G8A;8BL :><?;5:A CA;>289 18=><80;L=>3> 70:>=0. 
&&&&&&&&&&&&&&&&&&&&&.&&&&&&&&&&&&&&&
&&&&&&&&. 
  
&&&&&&&&&&&&&&&&&&&&&.& 
7. #5@5G8A;8BL :><?;5:A CA;>289 70:>=0 #C0AA>=0. 
&&&&&&&&&&&&&&&&&&&&&.& 
&&&&&&&&&&&&&&&&&&&&&.& 
 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 7 1 
 � ?0@B88 87 8 45B0;59 ?OBL AB0=40@B=KE. !0C40GC 27OBK G5BK@5 45B0;8. 
#>AB@>8BL @O4 @0A?@545;5=8O G8A;0 AB0=40@B=KE 45B0;59 A@548 >B>1@0==KE. 
 �0=>: �A?KB0=85 3 &&&&&&&&&&&&&&&& 

%;CG09=0O 25;8G8=0 X 3 &&&&&&&&&&&&& 
 !09B8: 70:>= @0A?@545;5=8O A;CG09=>9 25;8G8=K  X. 
 $5H5=85:  
#CABL X – G8A;> AB4=84@B=OE 89B4;99 A@988 >B>5@4==OE. 

�A53> .........  45B0;59, 87 =8E ...... AB0=40@B=KE 8 ..........  =5AB0=40@B=KE. �7OBL 4 
=5AB0=40@B=KE 45B0;59 =52>7<>6=>, B0: :0: 8E 2A53> B@8. #>MB><C A;CG09=0O 
25;8G8=0  <>65B ?@8=8<0BL A;54CNI85 G5BK@5 7=0G5=8O: x1 = 1; x2 = 2; x3 = 3; x4 = 4. 
�;O >?@545;5=8O 25@>OB=>AB8 ?>O2;5=8O :>=:@5B=>3> G8A;0 AB0=40@B=KE 45B0;59 
22545< A>1KB8O �i 3 87 4-E 45B0;59  i  AB0=40@B=KE. 
+8A;> 8AE>4>2 >?KB0 ýý 4

8Cn  &&&&&&&&&&&& 

�A;8 x1 = 1, B> ?@>87>H;> A>1KB85 �1 3 87 4-E 45B0;59  1 AB0=40@B=0O. 
+8A;> 8AE>4>2 A>1KB8O �1 5153

3
1
521 ýýýý CCmmm  

%;54>20B5;L=>, ýý )1(XP  &&&&&&&&&&&&&& 

�A;8 x2 = 2, B> ?@>87>H;> A>1KB85 �2 3 87 4-E 45B0;59     &&&&& 

+8A;> 8AE>4>2 A>1KB8O �2 ýý 21 mmm   &&&&&&&&&& 
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%;54>20B5;L=>, ýý )2(XP  &&&&&&&&&&&&&& 

�A;8 x3 = 3, B> ?@>87>H;> A>1KB85 �3 3   &&&&&&&&&& 
+8A;> 8AE>4>2 A>1KB8O �3    ……………………………………… 

%;54>20B5;L=>, ýý )3(XP  &&&&&&&&&&&&&& 

�A;8 x4 = 4, B> ?@>87>H;> A>1KB85 �4  3  &&&&&&&&&& 
+8A;> 8AE>4>2 A>1KB8O �4   ……………………………………… 

%;54>20B5;L=>, ýý )4(XP  &&&&&&&&&&&&&& 

�>=B@>;L - ýõ
ý

4

1i
ip  &&&&&&&&&&&&&&&& 

�A:><K9 @O4 @0A?@545;5=8O 8<55B 284:  
xi     

pi     

 

 

 �040G0 72 
 � <03078= ?>ABC?8;0 >1C2L A 42CE D01@8: 2 A>>B=>H5=88 2:3. �C?;5=> 4 ?0@K 
>1C28. !09B8 70:>= @0A?@545;5=8O G8A;0 :C?;5==KE ?0@ >1C28, 873>B>2;5==>9 ?5@2>9 
D01@8:>9  
 �0=>: �A?KB0=85 3   &&&&&&&&&&&&&&&& 

 &&&&&&..&&&&&&&&&&&&&& 
%;CG09=0O 25;8G8=0 X 3 &&&&&&&&&&&&& 

 !09B8: 70:>= @0A?@545;5=8O A;CG09=>9 25;8G8=K  X  
  
 $5H5=85:  

#CABL X – &&&&&&&&&&&&&&&&&& 
%;CG09=0O 25;8G8=0  <>65B ?@8=8<0BL A;54CNI85  7=0G5=8O &&&&&&&&&.  
&&&&&&&&&&&&&  
%;CG09=0O 25;8G8=0 @0A?@545;5=0 ?> 70:>=C  &&&&&&&&.. 
+8A;> 8A?KB0=89 n @02=> &&&&&&&&&&& 
�5@>OB=>ABL «CA?5E0» - MB> 25@>OB=>ABL B>3>, GB> &&&&&&&&&&. 
&&&&&&&&&&&&  
#> CA;>28N ?>ABC?8;0 >1C2L A 42CE D01@8: 2 A>>B=>H5=88 2:3. �5@>OB=>ABL B>3>, GB> 
A;CG09=> 2K1@0==0O ?0@0 >1C28 873>B>2;5=0 ?5@2>9 D01@8:>9, @02=0 p = 2 / (2 + 3) = 
....., q = 1 – p= …… 
 +8A;> «CA?5E>2» @02=> m, 8 <5=O5BAO 2 A>>B25BAB288 A> 7=0G5=8O<8 A;CG09=>9 
25;8G8=K. 

x1 = 0, A>1KB85  A0 3 =8  >4=0 ?0@0 =5 873>B>2;5=0 1-9 D01@8:>9. 
P(X = 0) = P4 (0)= C4

0 p0 q 4 – 0 = &&&&&&&&&&&& 
x2= 1, A>1KB85  A1 3 >4=0 ?0@0 &&&&&&&&&&&& 
P(X = 1) = P4 (1)= C4

1 p1 q 4 – 1 = &&&&&&&&&&&& 
x3 = 2, A>1KB85  A2 3 &&&&&&&&&&&&&&&. 
P(X = 2) = P4 (2)= &&&&&&&&&&&&&&&& 
x4 = 3, A>1KB85  A3 3 &&&&&&&&&&&&&&&. 
P(X = 3) = &&&&&&&&&&&&&&&&&&. 
 x5= …., A>1KB85  &&&&&&&&&&&&&&&&. 
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P(X = 4) = &&&&&&&&&&&&&&&&&&. 
�>=B@>;L: 
p1 + p2 + p3

 + p4  + p5 = &&&&&&&&&&&&&&& 
 
� B0: 8A:><K9 70:>= @0A?@545;5=8O 8<55B 284:  
 

xi      
pi      

 
  

%;CG09=0O 25;8G8=0 % 3 G8A;> ?0@ >1C28 A@548 G5BK@5E, 873>B>2;5==KE ?5@2>9 
D01@8:>9, 8<55B 18=><80;L=K9 70:>= @0A?@545;5=8O A ?0@0<5B@0<8 n = ……., p = 
………. 
  
 
  

 

#@0:B8G5A:0O @01>B0 7 6 «$0A?@545;5=85 48A:@5B=>9 A;CG09=>9 
25;8G8=K: 35><5B@8G5A:>5, 38?5@35><5B@8G5A:>5». 

�840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 ?@>F5AA5 
2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
 �=0BL:  
3 ?>=OB85 �%�;  
3  ?>=OB85 @O40 @0A?@545;5=8O �%� 
3  35><5B@8G5A:89 8 38?5@35><5B@8G5A:89 70:>=K  @0A?@545;5=8O �%�;  
3  A2>9AB20 70:>=>2 @0A?@545;5=8O �%� 
 
 '<5BL: 
3  70?8AK20BL @O4 @0A?@545;5=8O �%�, 7040==>9 A>45@60B5;L=K< >1@07>< 
   
 �>?@>AK : B5<5 
1. �0:0O 25;8G8=0 =07K205BAO A;CG09=>9? 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
2. �0:0O A;CG09=0O 25;8G8=0 =07K205BAO 48A:@5B=>9? #@82548B5 ?@8<5@K 48A:@5B=>9 
A;CG09=>9 25;8G8=K.  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
3. �0:0O A;CG09=0O 25;8G8=0 =07K205BAO =5?@5@K2=>9? #@82548B5 ?@8<5@K 
=5?@5@K2=>9 A;CG09=>9 25;8G8=K.  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
4. +B> =07K205BAO 70:>=>< @0A?@545;5=8O 48A:@5B=>9 A;CG09=>9 25;8G8=K?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
5. "1JOA=8B5 GB> B0:>5 "<=>3>C3>;L=8: @0A?@545;5=8O 25@>OB=>AB59".  �0: 53> 
?>AB@>8BL?  
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
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&&&&&&&&&&&&&&&&&&&&&.& 
5. #5@5G8A;8BL :><?;5:A CA;>289 35><5B@8G5A:>3> 70:>=0. 
&&&&&&&&&&&&&&&&&&&&&.& 
&&&&&&&&&&&&&&&&&&&&&.& 
  
7. #5@5G8A;8BL :><?;5:A CA;>289 38?5@35><5B@8G5A:>3> 70:>=0. 
&&&&&&&&&&&&&&&&&&&&&.& 
&&&&&&&&&&&&&&&&&&&&&.& 
  
&&&&&&&&&&&&&&&&&&&&&.& 
 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 7 1 
  
 %B@5;>:, 8<5O 4 ?0B@>=0, AB@5;O5B 4> ?5@2>3> ?>?040=8O 2 F5;L. �5@>OB=>ABL 
?>?040=8O ?@8 :064><  2KAB@5;5 @02=0 0,6. #>AB@>8BL 70:>= @0A?@545;5=8O G8A;0 
8A?>;L7>20==KE ?0B@>=>2. 
 

 �0=>: �A?KB0=85 3 AB@5;L10 4> ?5@2>3> ?>?040=8O, ?@8 =0;8G88 4-E ?0B@>=>2. 
%>1KB85 � 3 &&&&&&&&&&&&&&&&&&&&&.. 
P(A) = 0.6 ………………………………………………… 
%;CG09=0O 25;8G8=0 X 3   &&&&&&&&&&&&&&&&. 

 !09B8: 70:>= @0A?@545;5=8O A;CG09=>9 25;8G8=K  X. 
 

 $5H5=85:  
 �A?KB0=85 3 AB@5;L10 4> ?5@2>3> ?>?040=8O, ?@8 =0;8G88 4-E ?0B@>=>2. 
#>AB@>8< #-� >?KB0 Ω = {�; ��; ���; ����; ����}.  
#>MB><C A;CG09=0O 25;8G8=0  <>65B ?@8=8<0BL A;54CNI85 G5BK@5 7=0G5=8O: x1 = 1; 
x2 = 2; x3 = 3; x4 = 4 

�A;8 87@0AE>4>20= 1 ?0B@>= (x1 = 1), B> ?@>87>H;> A>1KB85 �1 - AB@5;>: ?>?0; 2 
F5;L. 6.0)()1( ýýý APXP   

�A;8 87@0AE>4>20=> 2 ?0B@>=0 (x2=2), B> ?@>87>H;> A>1KB85 �2 3 AB@5;>: ?>?0; 
2 F5;L ?@8 2B>@>< 2KAB@5;5, ?@>AB@0=AB2> 8AE>4>2 A>1KB8O �2={��}. P(X=2) =  (A2) 

= )(AP  ∙ P(A) =  &&&&&&& 

�A;8 87@0AE>4>20=> 3 ?0B@>=0 (x3 = 3), B> ?@>87>H;> A>1KB85 �3 3 AB@5;>: ?>?0; 
2 F5;L ?@8 B@5BL5< 2KAB@5;5, ?@>AB@0=AB2> 8AE>4>2 A>1KB8O �3 = {………….}. P(X=3) 
=  (A3) =    &&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 

�A;8 87@0AE>4>20=> 4 ?0B@>=0 (x4 = 4) , B> AB@5;>: ?@5:@0I05B AB@5;L1C. #@8 
MB>< >= <>65B :0: ?>?0ABL 2 F5;L, B0: 8 ?@><0E=CBLAO. #@>AB@0=AB2> 8AE>4>2 
A>1KB8O �4 = {����, ����}. P(X=4) =  (A4) = 
&&&&&&&&&&&&&&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&&&& 
�>=B@>;L -  &&&&&&&&&&&&&&&&&& 
 
�B0:, 70:>= @0A?@545;5=8O 8<55B 284 

 
xi     

pi     
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�040G0 7 2  
 #@>2>48BAO ?@>25@:0 1>;LH>9 ?0@B88 45B0;59 4> >1=0@C65=8O 1@0:>20==>9 
(157 >3@0=8G5=8O G8A;0 ?@>25@5==KE 45B0;59). %>AB028BL 70:>= @0A?@545;5=8O G8A;0 
?@>25@5==KE 45B0;59.   
�0=>: �A?KB0=85 3 &&&&&&&&&&&&&&&& 
            %>1KB85 � 3 &&&&&&&&&&&,  P(A) = &&. 

%;CG09=0O 25;8G8=0 X 3 &&&&&&&&&&&&& 
 !09B8: 70:>= @0A?@545;5=8O A;CG09=>9 25;8G8=K  X.    
  

�A?KB0=85 3 ?@>25@:0 1>;LH>9 ?0@B88 45B0;59 4> >1=0@C65=8O 1@0:>20==>9 
(157 >3@0=8G5=8O G8A;0 ?@>25@5==KE 45B0;59) 
#>AB@>8< #-� >?KB0 Ω = {�; !�; !!�; !!!�; . . .  }. &0: :0: @57C;LB0B :064>3> 
A;54CNI53> 2KAB@5;0 5AB5AB25==> AG8B0BL =57028AOI8< >B ?@54K4CI53>, B> 
25@>OB=>AB8 M;5<5=B0@=KE 8AE>4>2 A>>B25BAB25==> @02=K: 5A;8 ?@>25@5=0 1 45B0;L, 
B> ?@>87>H;> A>1KB85  
�1 – &&&&&&&&&&&&&&&&&&..&. 1.0)()1( ýýý APXP   

�A;8 ?@>25@5=> 2 45B0;8, B> ?@>87>H;> A>1KB85 �2 3 &&&&&&&&., 
?@>AB@0=AB2> 8AE>4>2 A>1KB8O �2 = { ………………….}. 
P(X=…..) =  (A2) = )(AP  ∙ P(A) = ( 1 3 0.1 ) ∙ 0.1 = &&&&&&&&&&. 
�A;8 ?@>25@5=> 3 45B0;8, B> ?@>87>H;> A>1KB85 �3 3 &&&&&&&&., 
?@>AB@0=AB2> 8AE>4>2 A>1KB8O �3 = {………………….}. 
P(X=…..) =  (A3) = &&&&&&&&. = &&&&&&&.=&&&&& 
�A;8 ?@>25@5=> 4 45B0;8, B> ?@>AB@0=AB2> 8AE>4>2 A>1KB8O �4 = {…….} 
P(X=….) =  (A4) = &&&&&&&&&&&= &&&&&&&&&&&. 
� B0: 40;55. �B0:, 70:>= @0A?@545;5=8O 8<55B 284 

%;CG09=0O 25;8G8=0 ) 3 G8A;> ?@>25@5==KE 45B0;59 4> >1=0@C65=8O 1@0:>20==>9 3 
8<55B 35><5B@8G5A:>5 @0A?@545;5=85 A ?0@0<5B@>< @ = …. 
 

 

#@0:B8G5A:0O @01>B0 7 7 « 0B5<0B8G5A:>5 >6840=85 8 48A?5@A8O 
48A:@5B=>9 A;CG09=>9 25;8G8=K». 

 

 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
 �=0BL: 
3  >?@545;5=85 <0B5<0B8G5A:>3> >6840=8O �%�; 
3  >?@545;5=85 48A?5@A88 �%�; 
3  >?@545;5=85 A@54=5:204@0B8G5A:>3> >B:;>=5=8O 
 '<5BL: 
3  2KG8A;OBL E0@0:B5@8AB8:8 �%�, 7040==>9 A2>8< @0A?@545;5=85<; 
3 A ?><>ILN A2>9AB2 2KG8A;8BL E0@0:B5@8AB8:8 4;O DC=:F89 >4=>9 8;8 =5A:>;L:8E 
�%� 
 
 �>?@>AK : B5<5 

xi     … m … 

pi     … 0,9m-1 ∙ 0.1 … 
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1. /2;O5BAO ;8 <0B5<0B8G5A:>5 >6840=85 A;CG09=>9 25;8G8=>9 8;8 =5B?  
&&&&&&&&&&&&&&&&&&&&&&    
2.  >6=> ;8 =09B8 <0B5<0B8G5A:>5 >6840=85 A;CG09=>9 25;8G8=K, A2O70==>9 A 
=5:>B>@K< >?KB><, 5A;8 7040=K #-� MB>3> >?KB0 8 M;5<5=B0@=K5 25@>OB=>AB8?  
&&&&&&&&&&&&&&&&&&&&&&    
3.  >6=> ;8 ?> @57C;LB0B0< =01;N45=89 70 A;CG09=>9 25;8G8=>9:  
0) A>AB028BL 70:>= 55 @0A?@545;5=8O; 1) =09B8 5P <0B5<0B8G5A:>5 >6840=85?    
 &&&&&&&&&&&&&&&&&&&&&&    
4. #CABL 4 8 b 3 A>>B25BAB25==> =08<5=LH55 8 =081>;LH55 7=0G5=8O A;CG09=>9 
25;8G8=K X. �0:85 87 A;54CNI8E A>>B=>H5=89 25@=K:  
4) M(X) < a;      5) 4  M(X)  b;      6) M(X) > b?    
&&&&&&&&&&&&&&&&&&&&&&    
5. %;CG09=0O 25;8G8=0 ?@8=8<05B 420 7=0G5=8O 0 8 1. +5<C @02=> 5P <0B5<0B8G5A:>5 
>6840=85? 
&&&&&&&&&&&&&&&&&&&&&&    
6. /2;O5BAO ;8 48A?5@A8O A;CG09=>9 25;8G8=>9 8;8 =5B?  
&&&&&&&&&&&&&&&&&&&&&&    
7. +5<C @02=0 D(-X), 5A;8 D(X) = 3?  
&&&&&&&&&&&&&&&&&&&&&&    
8. %;CG09=0O 25;8G8=0 ?@8=8<05B 7=0G5=8O -3; -2; -1; 0. +B> <>6=> A:070BL > 7=0:5 55 
48A?5@A88?  
&&&&&&&&&&&&&&&&&&&&&&    
9.  >65B ;8 48A?5@A8O A;CG09=>9 25;8G8=K 1KBL:  
0) <5=LH5 =C;O; 1) @02=>9 =C;N?  
&&&&&&&&&&&&&&&&&&&&&&    
10. �0: 87<5=8BLAO 48A?5@A8O A;CG09=>9 25;8G8=K, 5A;8 >B 2A5E 7=0G5=89 2KG5ABL 
>4=> 8 B>65 G8A;>? 
&&&&&&&&&&&&&&&&&&&&&&    
 

 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 7 1 
0) !09B8 <0B5<0B8G5A:>5 >6840=85, 48A?5@A8N 8 A@54=55 :204@0B8G5A:>5 >B:;>=5=85 
A;CG09=>9 25;8G8=K X, 7040==>9 70:>=>< @0A?@545;5=8O: 

xi 
 

-5 
 

2 
 

3 
 

4 
 

pi 
 

0.4 
 

0.3 
 

0.1 
 

0.2 
 

 $5H5=85 
  0B5<0B8G5A:>5 >6840=85 @02=> AC<<5 ?@>872545=89 2A5E 2>7<>6=KE 
7=0G5=89 X =0 8E 25@>OB=>AB8. 
#> D>@<C;5 �(%) = x1  p1 + x2  p2 +…+ xn  pn  
� (%) = -5 · 0,4 + 2 · 0,3 + &&&&&&&&&&&&&& 
�8A?5@A8N <>6=> 2KG8A;8BL ?> D>@<C;5 D(%) = �(%2) - [�(%)]2, !0?8H5< 70:>= 
@0A?@545;5=8O X2: 
 
 
 
 
 !0945< <0B5<0B8G5A:>5 >6840=85 X2: 
�(%2) = &&&&&&&&&&&&&&&&&&&... 
!0945< 48A?5@A8N D(%) = �(%2) - [�(%)]2 = &&&&&&&..... 
%@54=55 :204@0B8G5A:>5 >B:;>=5=85 =0945< ?> D>@<C;5: 

ó ó

xi
2 25 4 9 16 

pi 0.4 0.3 0.1 0.2 
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)()( XDx ý = &&&&&&&&&&&&&&&&&.. 
#>AB@>8< <=>3>C3>;L=8: @0A?@545;5=8O. "B<5B8< �(%) 8 σ(%) 

"B25B:  ()) = &&&&&..  D()) = &&&&&., σ()) = &&&&&& 
 
1) !09B8 <0B5<0B8G5A:>5 >6840=85, 48A?5@A8N 8 A@54=55 :204@0B8G5A:>5 >B:;>=5=85 
A;CG09=>9 25;8G8=K Y, 7040==>9 70:>=>< @0A?@545;5=8O: 
  
 
 
 !0945< <0B5<0B8G5A:>5 >6840=85 
� (Y) = -4 · 0,2 + 6 · 0,3 + &&&&&&&&&&&&&& 
!0945< 48A?5@A8N  D (Y) = M (Y2) – (� (Y))2, 2KG8A;8< � (Y2): 
� (Y2) = (-4)2 · 0,2 + 62∙0,3 + 102∙0,5 = &&&&&&&&&&& 
D (Y) = &&&&&&&&&&&&&&&&&&&&. 
%@54=55 :204@0B8G5A:>5 >B:;>=5=85 =0945< ?> D>@<C;5: 

&&&&&&&&&&&&&&&&&&&&&&... 
#>AB@>8< <=>3>C3>;L=8: @0A?@545;5=8O. "B<5B8< �(Y) 8 σ(Y) 

 

 

 

 

"B25B:  (Y) = &&&&&..  D(Y) = &&&&&., σ(Y) = &&&&&& 

 �040G0 7 2 
 !09B8 <0B5<0B8G5A:>5 >6840=85 8 48A?5@A8N ?> A2>9AB20< G8A;>2KE 
E0@0:B5@8AB8: 8,  8A?>;L7CO @57C;LB0BK 7040G8 7 1. 
0) Z = 2) + 3;  1) U = 3) 3 4Y 
 
 $5H5=85 

yk -4 6 10 
pk 0.2 0.3 0.5 

  -5                                M(X)

              0.4

                 Pi

(X) (X)
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1) �A?>;L7CO A2>9AB20 <0B5<0B8G5A:>3> >6840=8O, ?>;CG8<: 
0)  (Z)=  (2) +3)=  (2))+  (3)= &&&&&&&&&&&.. 
1)  (U)=  (3) 3 4Y)= &&&&&&&&&&&&&&&&&&&&&.. 
"B25B:  0)    ( Z )  =  &&&&&..;  1)    ( U )  =  &&&&&&&. 
 
2)�KG8A;8< 48A?5@A8N 48A:@5B=>9 A;CG09=>9 25;8G8=K Z, 8A?>;L7CO A2>9AB20 
48A?5@A88. 
0) D(Z)=D(2) +3)= D(2)) + D(3) = 22 ∙D())+ 0 = &&&&&&&. 
1) D(U) = D(3) 3 4Y) = D(3)) + D(-4Y) = 32 ∙ D(X) + (-4)2 ∙ D(Y) =  
&&&&&&&&&&&&&&&&&&&&&&... 
"B25B: 0) D ( Z ) =&&&&&&&&; 1) D (U) = &&&&&&&& 

 

 �040G0 7 3 
�8A:@5B=K5 A;CG09=K5 25;8G8=K 7040=K @0A?@545;5=8O<8: 
   xi    10    12    16                    yi    1      2 
   pi   0,4   0,1   0,5                    pi   0,2   0,8 
!09B8 <0B5<0B8G5A:>5 >6840=85 8 48A?5@A8N A;CG09=>9 25;8G8=K   
Z = ) + Y. 
$5H8BL 7040GC: 1) A>AB0282 @O4 @0A?@545;5=8O Z, 2) ?> A2>9AB20<. 
 
 �0=>: A;CG09=K5 25;8G8=K X 8 Y, 7040==K5 @O40<8 @0A?@545;5=8O 
           Z= ) + Y 
 !09B8: M(Z), D(Z)  
 
 $5H5=85: 

�=0G5=85 A;CG09=>9 25;8G8=K Z =0945<, 5A;8 A;>68< :064>5 7=0G5=85 
A;CG09=>9 25;8G8=K X A :064K< 7=0G5=85< A;CG09=>9 25;8G8=K Y. %>>B25BAB2CNI85 
25@>OB=>AB8 A:;04K205<KE 7=0G5=89 xi 8 yi  1C45< ?5@5<=>60BL.  
 
�;O 70?8A8 @5H5=8O A>AB028< B01;8FC. 
 

Z = X + Y xi 10 12 16 

yi pi 0.4 0.1 0.5 

 

1 

 

0.2 

11                      
                                  

0.08 

13 
                  

0.02 

17 
                 0.1 

 

2 

 

0.8 

12 
                            

0.32 

14 
                0.08 

18 
                 0.4 

�>=B@>;L:   0,08 + 0,02 + 0,1 + 0,32 + 0,08 + 0,4 = 1;               
%>AB028< @O4 @0A?@545;5=8O. �;O MB>3> A@02=8< ?>;CG5==K5 7=0G5=8O A;CG09=>9 
25;8G8=K Z: >48=0:>2KE 7=0G5=89 =5B, =08<5=LH55 @02=> 11.  
#>;CG8< @04 @0A?@545;5=8O A;CG09=>9 25;8G8=K Z 
 

zi 11 12 13 14 17 18 

1
6

1

ýõ
ýi

ip
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pi 0.08 0.32 0.02 0.08 0.1 0.4 

 M(Z) = z1  p1 + z2  p2 +…+ zn  pn  
� (Z) = 11 · 0,08 + 12 · 0,32 + &&&&&&&&&&&&& 
&&&&&&&&&&&&&&&&&&&&&&. 
�8A?5@A8N <>6=> 2KG8A;8BL ?> D>@<C;5 D(Z) =  (Z2) - [ (Z)]2 
M(Z2)= 112· 0.08 +122·0.32+ 132·0.02 +142·0.08 + 172·0.1+182·0.4 = 
&&&&&&&&&&&&&&&&&&&&&&. 
"B25B: M ( Z ) =&&&&&& D ( Z ) =&&&&&&& 
�>A?>;L7C5<AO A2>9AB20<8 <0B5<0B8G5A:>3> >6840=8O 8 48A?5@A88. 
!0945< M(X), M(Y)  8 D(X), D(Y). 
1.  ()) = &&&&&&&&&&&&&&&&&&&.. 

   ()2) = &&&&&&&&&&&&&&&&&&..... 
  D(X) = &&&&&&&&&&&&&&&&&&...... 

2. M(Y) = &&&&&&&&&&&&&&&&&&......                   M(Y2) = 
&&&&&&&&&&&&&&&&&&........ 

  D(Y) = &&&&&&&&&&&&&&&&&&...... 
3. M(Z) = M(X + Y) = M(X) + M(Y) = &&&&&&&&&&&.   
D(Z) = D(X + Y) = &&&&&&&&&&&&&&&&& 
 3 >B25BK A>2?040NB 
 

 

#@0:B8G5A:0O @01>B0 7 8 «(C=:F8O 8 ?;>B=>ABL @0A?@545;5=8O 
=5?@5@K2=>9 A;CG09=>9 25;8G8=K». 

 

 �840:B8G5A:0O F5;L. #@8<5=5=85 ?>;CG5==KE 7=0=89, C<5=89 8 =02K:>2 2 
?@>F5AA5 2K?>;=5=88 A0<>AB>OB5;L=>9 2KG8A;8B5;L=>9 @01>BK. 
• �=0BL: 
3 >?@545;5=85 8 A2>9AB20 DC=:F88 ?;>B=>AB8 !%�; 
3 >?@545;5=85 8 A2>9AB20 8=B53@0;L=>9 DC=:F88 @0A?@545;5=8O !%�; 
3A2O7L <564C 8=B53@0;L=>9 DC=:F859 @0A?@545;5=8O 8 D>@<C;>9 ?;>B=>AB8 
•  '<5BL: 
3 =0E>48BL DC=:F8N ?;>B=>AB8 ?> 8=B53@0;L=>9 D>@<C;5 @0A?@545;5=8O !%�; 
3 2KG8A;OBL 25@>OB=>AB8 4;O !%� ?> 5P DC=:F88 ?;>B=>AB8 8 8=B53@0;L=>9 
DC=:F88 @0A?@545;5=8O 
 
 �>?@>AK : B5<5 
1. �0BL >?@545;5=85 DC=:F88 @0A?@545;5=8O 25@>OB=>AB59.  
&&&&&&&...&&&&&&&&&&&&&&& 

2. �09B5 35><5B@8G5A:CN 8=B5@?@5B0F8N DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

3. #5@5G8A;8B5 A2>9AB20 DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

4. �09B5 >?@545;5=85 48DD5@5=F80;L=>9 DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

5. +B> B0:>5 :@820O @0A?@545;5=8O?  
&&&&&&&...&&&&&&&&&&&&&&& 

6. �5><5B@8G5A:89 A<KA; 25@>OB=>AB8 ?>?040=8O 7=0G5=8O A;CG09=>9 25;8G8=K 2 
7040==K9 8=B5@20;.  
&&&&&&&...&&&&&&&&&&&&&&& 
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7. #5@5G8A;8B5 A2>9AB20 48DD5@5=F80;L=>9 DC=:F88 @0A?@545;5=8O.  
&&&&&&&...&&&&&&&&&&&&&&& 

&&&&&&&...&&&&&&&&&&&&&&& 

 
 �040G8 : ?@0:B8G5A:>9 @01>B5  
 �040G0 7 1 
%;CG09=0O 25;8G8=0 X 7040=0 DC=:F859 @0A?@545;5=8O: 

ÿ
ÿ
þ

ÿÿ
ý

ü

þ

óü

ó

ý

3;1

30;
3

0;0

)(

x?@и

x?@иx

x?@и

xF  

!09B8 DC=:F8N ?;>B=>AB8 25@>OB=>AB8 �(x) A;CG09=>9 25;8G8=K X. 
#>AB@>8BL 3@0D8: �(x)  8 F(x). 
!09B8 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X ?@8<5B 
7=0G5=8O: 
0) @02=>5 1;  1) =5 1>;55 1;  2) 2 8=B5@20;5 >B 1 4> 2. 
$5H8BL 7040GC 42C<O A?>A>10<8: 8A?>;L7CO F(E) 8 �(x). 
�7>1@078BL C:070==K5 25@>OB=>AB8 =0 3@0D8:0E F(E) 8 �(x). 

 
  $5H5=85 
!0945<  DC=:F8N ?;>B=>AB8 25@>OB=>AB8 �(x) A;CG09=>9 25;8G8=K X. 
(C=:F8N 25@>OB=>AB8 2KG8A;8< ?> D>@<C;5  �(x) = F'(E). 
�A;8 E ≤ 0; B> F(E) = 0; B>340 �(x) = F'(E) = (0)′ = 0. 

�A;8 0 < E  ≤ 3; B> F(E) =&&, B>340  ø ù ýòý ........)(xf &&&&&.. 
�A;8 E > 3, B> F(E) = &, B>340 �(x) = (&..) ' = &&&&&&& 
�0?8H5< DC=:F8N ?;>B=>AB8 

ÿ
þ

ÿ
ý

ü

þ
óü

ó
ý

3......;

30......;

0;0

)(

x?@8
x?@8

x?@8
xf  

 
#>AB@>8< 3@0D8:8 F(E) 8 �(x). 

@8A. 1     @8A. 2 
4) !0945< 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X 
?@8<5B 7=0G5=85 @02=>5 1. 
!0945<  (% = &&). 
&. :. A;CG09=0O 25;8G8=0 X - =5?@5@K2=0, B> 25@>OB=>ABL >B45;L=> 27OB>3> 7=0G5=8O 
@02=0 =C;N, B.5. P(X = &..) = &&&. 

 

        f(X)

0              1            2           3          X

        F(X)

1

 0              1             2           3          X

1/3
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1) !0945< 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X 
?@8<5B 7=0G5=85 =5 1>;55 1. 

P(X ≤ &..) =0945< ?> D>@<C;5   (4 ≤ X ≤ b) = F(b) - F(4) 
ýýóóýóó (...)(...))10()1( FFXPXP &&&&&&&& 

 

$5H8< 7040GC 2-< A?>A>1><.  �>A?>;L7C5<AO D>@<C;0<8: 

$(0 ≤ X ≤ b)= ò ò ý
b

a

Cxdxdxxf ,;)(    #>;CG8<: 

ýýóó ò


dxXP
1

.....)1( &&&&&&&&&&&&&&.. 

�K2>4: >10 >B25B0 A>2?040NB. 
�7>1@078< ?>;CG5==CN 25@>OB=>ABL =0 3@0D8:0E F(E) 8 ƒ(x). 

 
                      $8A. 3     $8A. 4 
!0 @8A.3    (% ≤ 1) MB> ?;>I04L ?>4 :@82>9 @0A?@545;5=8O �(x)  =0 >B@57:5 [0; 1]. 
!0 @8A. 4  (E ≤ 1) MB> >@48=0B0 B>G:8 F(1) 
 
2) !0945< 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=89 A;CG09=0O 25;8G8=0 X 
?@8<5B 7=0G5=85 2 8=B5@20;5 >B 1 4> 2. 

ýýóó )1()2()21( FFXP ..................................................... 

8;8 

ýýóó ò dxxfXP
2

1

)()21( ................................................... 

 
�7>1@078< ?>;CG5==CN 25@>OB=>ABL =0 3@0D8:0E F(E) 8 ƒ(x). 
 

         $8A 5.     $8A 6. 

        f(X)

 0                  1              2          3          X

1/3

0                   1            2           3          X

        F(X)

1

P(x   1)

P(x   1)

        f(X)

0              1            2           3          X

        F(X)

1

 0              1             2           3          X

1/3
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!0 @8A. 5   (1 ≤ % ≤ 2) MB> ?;>I04L ?>4 :@82>9 @0A?@545;O5BAO =0 >B@57:5 [1; 2];  
!0 @8A. 6   (1 ≤ % ≤ 2) MB> ?@8@0I5=85 >@48=0BK 3@0D8:0  (E) =0 >B@57:5 [1; 2]. 
 
�040G0 7 2 
%;CG09=0O 25;8G8=0 X 7040=0 DC=:F859 ?;>B=>AB8 25@>OB=>AB8: 

ÿ
ÿ
þ

ÿÿ
ý

ü

þ

óü

ó

ý

2;0

20;
2

0;0

)(

x?@и

x?@иx

x?@и

xf  

!09B8 DC=:F8N @0A?@545;5=8O F(x) A;CG09=>9 25;8G8=K X.  
#>AB@>8BL 3@0D8: �(x) 8 F(E). 
�KG8A;8BL $(1 ≤ ) ≤ 2) 
�7>1@078BL =0 3@0D8:0E �(x) 8 F(E) =0945==CN 25@>OB=>ABL. "B<5B8BL =0 3@0D8:5 
F(E), B> 7=0G5=85 A;CG09=>9 25;8G8=K X, ?@8 :>B>@>< >=0 8<55B =081>;LHCN 
25@>OB=>ABL. 
 $5H5=85 
(C=:F8N @0A?@545;5=8O F(x) =5?@5@K2=>9 A;CG09=>9 25;8G8=K =0945< ?> D>@<C;5 

.)()( ò


ý
x

dttfxF  

"1;0ABL >?@545;5=8O 48DD5@5=F80;L=>9 DC=:F88 �(x) =5?@5@K2=0, => DC=:F8O 
7040=0 @07;8G=K<8 0=0;8B8G5A:8<8 2K@065=8O<8 =0 @07=KE 8=B5@20;0E. 

�A;8  x  ≤ 0, B>340 �(x) = 0 8  ò


ý
x

dtxF 0)( .......... 

�A;8 0 < x  ≤ 2, B> ý)(xf .........; A;54>20B5;L=> ò ò


ýý
0

0

.........0)(
x

dtdtxF  

........................................................................................... 
 

�A;8 E > 2 , B> �(x)  = ........ 8, A;54>20B5;L=>, òòò ýý


x

dtdt
t

dtxF
2

2

0

0

0
2

0)(

...................................................... 
&0:8< >1@07><, 8A:><0O DC=:F8O 
 

ÿ
þ

ÿ
ý

ü

þ
óü

ó
ý

2.;..........

20.;..........

0.;..........

)(

x?@8
x?@8

x?@8
xF  

 
#>AB@>8< 3@0D8:8 DC=:F88 

        f(X)

        f(X)

 0                  1              2          3          X

1

        F(X)

0                   1            2           3          X

1

Max
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 $8A 7.     $8A 8. 
 
!081>;LHCN 25@>OB=>ABL F(x) 8<55B ?@8 E = .............  
�KG8A;8<  (1 ≤ % ≤ 2) ............................................................. 

........................................................................................ 
"B25B: .............................................................................. 

 

�040G0 3 
%;CG09=0O 25;8G8=0 X 7040=0 DC=:F859 @0A?@545;5=8O 

ÿ
ÿ
ÿ

þ

ÿ
ÿ
ÿ

ý

ü

þ

óü

ó

ý

3

1
1

3

1
1

4

3

10

)(

x?@8

x?@8Cx

x?@8

xF  

 
!09B8 25@>OB=>ABL B>3>, GB> 2 @57C;LB0B5 8A?KB0=8O 25;8G8=0 X ?@8<5B 7=0G5=85, 

70:;NG5==>5 2 8=B5@20;5 .
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Т45?иF4  1 

�=4G5=85 DC=:F88 ?;>B=>AB8 

AB4=44@B=>9 =>@<4;P=>9 65;8G8=O U = N(0, 1):                                               �u(0, 1) 
                                                                                                                                                                                                        
�@820O �0CAA0 
�v(u) =   1    e-u

2/2                                                                                                               �(u)    
  :2Ã                                                                                      0      u 
 

u 0 1 2 3 4 5 6 7 8 9 

0.0 0.3989 3989 3989 3988 3986 3984 3982 3980 3977 3973 
0.1 3970 3965 3961 3956 3951 3945 3939 3932 3925 3918 

0.2 3910 3902 3894 3885 3876 3867 3857 3847 3836 3825 
0.3 3814 3802 3790 3778 3765 3752 3739 3726 3712 3697 
0.4 3683 3668 3653 3637 3621 3605 3589 3572 3555 3538 
0.5 3521 3503 3485 3467 3448 3429 3410 3391 3372 3352 
0.6 3332 3312 3292 3271 3251 3230 3209 3188 3166 3144 
0.7 3123 3101 3079 3056 3034 3011 2989 2966 2943 2922 
0.8 2897 2874 2850 2827 2803 2780 2756 2732 2709 2685 
0.9 2661 2637 2613 2589 2565 2541 2516 2492 2468 2444 
1.0 2420 2396 2371 2347 2323 2299 2275 2251 2227 2203 
1.1 2179 2155 2131 2107 2083 2059 2036 2012 1989 1965 

1.2 1942 1919 1895 1872 1849 1826 1804 1781 1758 1736 
1.3 1714 1691 1669 1647 1626 1604 1582 1561 1539 1518 
1.4 1497 1476 1456 1435 1415 1394 1374 1354 1334 1315 

1.5 1295 1276 1257 1238 1219 1200 1182 1163 1145 1127 
1.6 1109 1092 1074 1057 1040 1023 1006 0989 0973 0957 
1.7 0940 0925 0909 0893 0878 0863 0848 0833 0818 0804 
1.8 0790 0775 0761 0748 0734 0721 0707 0694 0681 0669 

1.9 0656 0644 0632 0620 0608 0596 0584 0573 0562 0551 

2.0 0540 0529 0519 0508 0498 0488 0478 0468 0459 0449 
2.1 0440 0431 0422 0413 0404 0396 0387 0379 0371 0363 
2.2 0355 0347 0339 0332 0325 0317 0310 0303 0297 0290 
2.3 0283 0277 0270 0264 0258 0252 0246 0241 0235 0229 
2.4 0224 0219 0213 0208 0203 0198 0194 0189 0184 0180 
2.5 0175 0171 0167 0163 0158 0154 0151 0147 0143 0139 
2.6 0136 0132 0129 0126 0122 0119 0116 0113 0110 0107 
2.7 0104 0101 0099 0096 0093 0091 0088 0086 0084 0081 
2.8 0079 0077 0075 0073 0071 0069 0067 0065 0063 0061 

2.9 0060 0058 0056 0055 0053 0051 0050 0048 0047 0046 

3.0 0044 0043 0042 0040 0039 0038 0037 0036 0035 0034 

3.1 0033 0032 0031 0030 0029 0028 0027 0026 0025 0025 
3.2 0024 0023 0022 0022 0021 0020 0020 0019 0018 0018 
3.3 0017 0017 0016 0016 0015 0015 0014 0014 0013 0013 
3.4 0012 0012 0012 0011 0011 0011 0010 0010 0009 0009 
3.5 0009 0008 0008 0008 0008 0007 0007 0007 0007 0006 
3.6 0006 0006 0006 0005 0005 0005 0005 0005 0005 0004 
3.7 0004 0004 0004 0004 0004 0004 0003 0003 0003 0003 

3.8 0003 0003 0003 0003 0003 0002 0002 0002 0002 0002 
3.9 0002 0002 0002 0002 0002 0002 0002 0002 0001 0001 
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Т45?иF4 2 
�=0G5=85 DC=:F88 �0?;0A0 
 
8;8 7=0G5=85 25@>OB=>AB8 γ = P(|N(0,1)<u|) 
 

 

                                                                                                             -u        0             u 
 

0 1 2 3 4 5 6 7 8 9 

0,0 0,000 0080 0160 0238 0319 0399 0478 0558 0638 0717 
0,1 079

7 
0876 0955 1034 1113 1192 1271 1350 1428 1507 

0,2 1585 1663 1741 1819 1897 1974 2051 2128 2205 2282 
0,3 2358 2434 2510 2586 2661 2737 2812 2886 2960 3035 
0,4 3108 3182 3255 3328 3401 3473 3545 3616 3688 3759 
0,5 3829 3899 3969 4039 4108 4177 4245 4313 4381 4448 
0,6 4515 4581 4647 4713 4778 4843 4907 4971 5035 5098 
0,7 5161 5223 5285 5346 5407 5467 5527 5587 5646 5705 
0,8 5763 5821 5887 5935 5991 6047 6102 6157 6211 6265 
0,9 6319 6372 6424 6476 6528 6579 6629 6679 6729 6778 
1,0 6827 6875 6923 6970 7017 7063 7109 7154 7199 7243 
1,1 7287 7330 7373 7415 7457 7499 7540 7580 7620 7660 
1,2 7699 7737 7775 7813 7850 7887 7923 7959 7994 8029 
1,3 8064 8098 8132 8165 8198 8230 8262 8293 8324 8355 
1,4 8385 8415 8444 8473 8501 8529 8557 8584 8611 8638 
1,5 8664 8690 8715 8740 8764 8789 8812 8836 8859 8882 
1,6 8904 8926 8948 8969 8990 9011 9031 9051 9070 9090 
1,7 9109 9127 9146 9164 9181 9189 9216 9233 9249 9265 
1,8 9281 9297 9312 9327 9342 9357 9371 9385 9399 9412 
1,9 9426 9439 9451 9464 9476 8488 9500 9512 9523 9534 
2,0 9545 9556 9566 9576 9586 9596 9606 9616 9625 9634 
2,1 9643 9651 9660 9668 9676 9684 9692 9700 9707 9715 
2,2 9722 9729 9736 9743 9749 9756 9762 9768 9774 9780 
2,3 9786 9791 9797 9802 9807 9812 9817 9822 9827 9832 
2,4 9836 9841 9845 9849 9853 9857 9861 9865 9869 9872 

 

γ=φ(u)  
�u(0,1)  

§(u) =   2    ∫e-t2/2dt  

  :2Ã       
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